Name:

Date:

Teacher:

Class:

Addition and Subtraction 503

day off.

Calculate.

Why did the elephant cross the road? It was the chicken's

L. 3,780 2 2,086 3 3,240 # 4,357 > 7,241 6 3,107
+ 4008 + 7,112 + 3,536 2,521 1,736 6,471
£ 3,029 & 4,246 ° 8,914 10 3879 1. 1850 2 2,826
- 1019 -1,233 - 1,412 1,619 1,640 1,615
13. 4586 % 5318 15> 2,723 1 92001 5,259 18 7493
+ 5412 + 4,170 + 7,010 1,139 3,640 2,001
19. 4652 20 2927321 7049 22 2014 %3 5,198 % 7,938
- 1,111 - 1,603 - 1,026 1,013 1,124 1,506
258,519 %6 3,304 %"+ 3,148 %8 6,284 2°- 7,438 30 2439
+ 1,170 + 4,062 + 6,031 2,102 1,450 1,300
sl. 6,547 32 3,135 3 8,678 3% 3,401 3 9,02036 7,257
— 1,425 - 1,121 - 1,124 1,301 1,010 1,126
7. 8,303 3% 76903 20914 3,016
+ 1,416 + 1,001 + 6,308 1,982
© Facilitators Ferriswheel WS#:A&S503 Score:



Answer Key

Date:

Teacher:

Class:

Addition and Subtraction 503

day off.

Calculate.

Why did the elephant cross the road? It was the chicken's

L. 3,780 2 2,086 3 3,240 # 4,357 > 7,241 6 3,107
+ 4008 + 7,112 + 3,536 + 2,521 + 1,736 6,471
7,788 9,198 6,776 6,878 8,977 9,578
£ 3,029 & 4,246 ° 8,914 10 3879 1. 1850 2 2,826
-1019 -1233 -1412 -1619 - 1,640 1,615
2,010 3,013 7,502 2,260 210 1,211
13. 4586 % 5318 15> 2,723 1 92001 5,259 18 7493
+ 5412 + 4,170 + 7,010 + 1,139 + 3,640 2,001
9,998 9,488 9,733 10,339 8,899 9,494
19. 4652 20 2927321 7049 22 2014 %3 5,198 % 7,938
-1111 -1603 -1026 - 1,013 - 1,124 1,506
3,541 1,324 6,023 1,001 4,074 6,432
258,519 %6 3,304 %"+ 3,148 %8 6,284 2°- 7,438 30 2439
+ 1,170 + 4,062 + 6,031 + 2,102 + 1,450 1,300
9,689 7,366 9,179 8,386 8,888 3,739
sl. 6,547 32 3,135 3 8,678 3% 3,401 3 9,02036 7,257
- 1425 -1,121 -1,124 - 1,301 - 1,010 1,126
5,122 2,014 7,554 2,100 8,010 6,131
7. 8,303 3% 76903 20914 3,016
+ 1,416 + 1,001 + 6,308 + 1,982
9,719 8,691 8,399 4,998
© Facilitators Ferriswheel WS#:A&S503 Score:



